North of the Yarra SCHOOL BOOKSELLERS



STUDENT RESOURCE LIST 2022

 $\underline{ORDER\ ONLINE} \quad \textbf{-Complete this resource list online before:}$

Tuesday 7th December 2021

Alternatively complete this list and return to school by the due date above.

ORDERING, COLLECTION AND PAYMENT OPTIONS - Further ordering instructions overleaf

PLACING YOUR ORDER

- A. Complete your order ONLINE (further instructions overleaf) or
- B. Complete this order form & submit to your school office before the due date.

COLLECTION

- A. Collect your prepacked order from school on your COLLECTION DAY (see section below) or
- B. Have your order HOME DELIVERED by Australia Post (All home delivery orders must be prepaid).

PAYMENT

A. You may PREPAY your order by credit card by completing the section below or online. Alternatively you may pay on collection day by: Credit Card Eftpos, or Bank Cheque. **No Cash**. Home deliveries require prepayment.

FAMILY NAME		FIRST NAME		
ADDRESS				
SUBURB		P/CODE	PHONE	
CREDIT CARD PA	AYMENT AUTHORIT	- Please con	nplete this section if p	repaying
The amount charged will b	be the total cost of the items	selected and your ca	rd will be debited at the	time of processing your order
TICK CARD TYPE	MASTERCARD	VISA	EXPIR	Y DATE /
CARD NO.				
CARDHOLDERS NAME		CARDHOLDE	RS SIGNATURE	
6				
ORDER COLLEC	TION FORM	RES	ERVOIR HIGH SC	HOOL - SEAL YEAR
North of the Yarra	-		FIRS	
SCHOOL BOOKSELLERS	:	Monday 24th January 2022		
	COLLECTION DAY	Monday 2	24th January 2022	

Seal Year 7 Reservoir High School

RESERVOIR HIGH SCHOOL YEAR 7 SEAL PROGRAM RESOURCE LIST 2022

Title	Ord Line	Tick ⊠	Qty	Unit Price	Total Price
ESSENTIAL STUDENT LEARNING ITEMS					
Whilst the Government provides schools with resources, the expectation is that parents will provide their students with textbooks, individual student requisites and school uniform. Parents are also expected to pay for items such as excursions and curriculum materia "Essential Student Learning Items and Curriculum Requirements" are those used in the course of instruction in curriculum programs be classroom & specialist. These items include extra student stationery, textbooks, readers, class sets, consumable materials & equipment for learning and teaching.					
The Essential Educational Contribution for Year 7 is \$280.00 per student. This is to be paid directly to the school.					
Listed below are the minimum requirements that students are expected to purchase for the school year.					
SEAL PROGRAM (Students should only use this SEAL PROGRAM Resource List if advised to do so by the School)					
ART (SEAL PROGRAM)					
ART DETECTIVE (3RD ED) [STOCKLEY]	1		1		\$67.95
(Retain for Years 8&9)					
PENCILS WATERCOLOUR STAEDTLER NORIS AQUARELL PKT-12	2		1		\$9.50
MARKERS CONNECTOR PENS PKT 10	3	Ц	1		\$6.25
PEN ARTLINE 200 FINE 0.4MM BLACK	4	Ц	1		\$3.60
GLUE STICK 20GM	5 6	Н	1		\$2.80
VISUAL DIARY A4 60 SHEET/120PG 110GSM PORTRAIT	0		1		\$5.95
DESIGN TECHNOLOGY (SEAL PROGRAM)					
DISPLAY BOOK A4 20PG REFILLABLE	7		1		\$2.15
PENCIL TRADITION 2B	8		1		\$0.80
SCISSORS PLASTIC HANDLE 165MM	9		1		\$3.50
(In addition to the items listed above, students are also expected to purchase a HB pencil,					
eraser, sharpener and ruler as listed in General Stationery at the bottom of this booklist)					
ENGLISH (SEAL PROGRAM)					
OXFORD MYENGLISH 8 VIC. CURR. (2ND ED) (INCL. BOOK & DIGITAL)	10		1		\$26.95
DICTIONARY MACQUARIE POCKET (5TH ED) & BONUS THESAURUS	11		1		\$39.95
RUNNER [NEWTON]	12		1		\$19.99
ONCE [GLEITZMAN]	13		1		\$16.99
BINDER 2D RING A4 25MM	14		1		\$4.95
REFILLS REINFORCED A4 7MM PKT-50	15		2	\$2.15	\$4.30
SUBJECT DIVIDERS CARD A4 5 TAB	16		1		\$1.20
POST-IT NOTES 76MM x 76MM 100shts #654	17		1		\$3.40
HEALTH AND PHYSICAL EDUCATION (SEAL PROGRAM)					
RESERVOIR HIGH SCHOOL YEAR 7 HEALTH & PE WORKBOOK (INCL. PRINT & DIGITAL) [FLEXIBOOK]	18		1		\$43.95
(New Edition for 2022)		_			
DISPLAY BOOK A4 20PG REFILLABLE CLEAR FRONT COVER	19		1		\$2.35
HOME ECONOMICS/TEXTILES (SEAL PROGRAM)					
DISPLAY BOOK A4 20PG REFILLABLE CLEAR FRONT COVER	20		1		\$2.35
HUMANITIES (SEAL PROGRAM) OXFORD HUMANITIES 7 VIC. CURR. (2ND ED) (INCL. BOOK & DIGITAL) [EASTON ET AL]	21		1		\$65.95
(New Edition for 2022)	21		I		ψ00.90
BINDER 4D RING A4 25MM	22		1		\$6.75
REFILLS REINFORCED A4 7MM PKT-50	23		2	\$2.15	\$4.30
SUBJECT DIVIDERS CARD A4 5 TAB	24		1		\$1.20
			1		\$2.35

Title	Ord Line	Tick ⊠	Qty	Unit Price	Total Price
LANGUAGES (SEAL PROGRAM)					
All students are required to study both Chinese & Italian as listed listed below. Items are to be retained for future years.					
CHINESE (SEAL PROGRAM)		_			
BOX FILE A4 ZIPPERED	26	Ц	1		\$9.95
BINDER BOOK A4 64PG	27		1		\$1.25
ITALIAN (SEAL PROGRAM)					
BOX FILE A4 ZIPPERED	28		1		\$9.95
BINDER BOOK A4 64PG	29		1		\$1.25
MATHS (SEAL PROGRAM)					
Listed below are 2 options. Students need to select one of the options, either A or B and purchase the relevant items.					
OPTION A					
ESSENTIAL MATHEMATICS 8 FOR VIC. CURR. (2ND ED) (INCL. BOOK & DIGITAL) [GREENWOOD ET AL]	30		1		\$72.95
OPTION B					
If students already have a secondhand copy of the Mathematics textbook as listed above, they will need to purchase the Digital Interactive Textbook separately					
All students require the Digital Interactive Textbook. Previous Digital Interactive Textbook codes will not be valid as they are a 12 mont	th licence				
The Digital Interactive Textbook Reactivation code is listed below for students to purchase:					
REACTIVATION: ESSENTIAL MATHEMATICS YR 8 VIC. CURR. (2ND ED) (Reactivation code will be emailed to customers)	31		1		\$19.95
(Emailed reactivation codes are Firm Sale)		_			
All students require the items listed below, regardless of which option chosen:					
CALCULATOR SCIENTIFIC SHARP EL531	32		1		\$27.95
BINDER BOOK A4 128PG	33		2	\$2.00	\$4.00
DISPLAY BOOK A4 20PG REFILLABLE CLEAR FRONT COVER	34	Ц	1		\$2.35
GRAPH PAD A4 2MM 40PG	35	Н	1	\$4.00	\$2.25
GRAPH BOOK A4 5MM GRID 96PG	36		2	\$1.80	\$3.60
SCIENCE (SEAL PROGRAM)					
DISPLAY BOOK A4 20PG REFILLABLE CLEAR FRONT COVER	37		1		\$2.35
BINDER BOOK A4 64PG	38	Ц	2	\$1.25	\$2.50
GENERAL STATIONERY -SEAL PROGRAM YEAR 7-ALL STUDENTS / ALL SUBJECTS					
USB MEMORY STICK 32GB SWIVEL TOP	39		1		\$12.00
HEADPHONES IN-EAR WITH MICROPHONE AND CASE	40		1		\$20.95
PEN BALLPOINT BLUE PKT 3	41		1		\$1.85
PEN BALLPOINT RED PKT 3	42	Ц	1		\$1.85
PEN BALLPOINT BLACK PKT 3	43	Ц	1		\$1.85
	44	H	1		\$0.80
PENCILS COLOUR STAEDTLER NORIS PKT-12	45 46	H	1 1		\$5.10
ERASER STAEDTLER 526-BT30 DUO RULER WOODEN 30CM	40 47	Н	1		\$1.80 \$1.10
SHARPENER PENCIL 2 HOLE PLASTIC	48	Π	1		\$0.75
HIGHLIGHTERS SET 4	49		1		\$7.00
SHEET PROTECTORS A4 PKT-100	50		1		\$8.25
DOCUMENT WALLET POLYDOC FOOLSCAP	51		4	\$2.45	\$9.80
POST-IT NOTES 76MM x 76MM 100shts #654	52		1		\$3.40
STAPLER REXEL BEASTI MINI WITH STAPLES	53		1		\$9.00
PENCIL CASE : TARTAN JUMBO 2 ZIP 37.5cmx26.4cm	54		1		\$5.25
BOOK COVERING SELF ADHESIVE 3M x 35CM (80 Micron)	55		1		\$4.85
	50		4		¢16.05
REFILLS REINFORCED A4 7MM PACK 500	56	Ч	1		\$16.95
(Optional purchase)					
PROCESSING & HOME DELIVERY					A- - -
RESOURCE LIST PROCESSING & PACKAGING (Applies to all resource lists) (PC)	57 50	H	1		\$7.95 \$0.00
REGULAR HOME DELIVERY (Regular Home Delivery is an Optional Service)	58		1		\$9.00

Title	Ord	Tick	04.	Unit	Total	
Inte	Line	Tick ⊠	Qty	Price	Price	